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Introductory Biology /Elementary Mathematics

PAPER — AGS-107
Full Marks : 50
Time : 2 hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers
in their own words as far as practicable.

Tllustrate the answers wherever necessary.

Answer from any one Section as directed.

SECTION—A
Introductory Biology
Answer from all the Groups as directed.
GROUP—A
1. Answer any five questions : 2x5=10

(o) Define binomial nomenclature.
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(d) (i} (A} Determine the equation of circle
whose diameter is the line joining

(1, 0) and (-1, 0).
(B) A(5, 3), B(-1, 1) and C(7, -3) are
the vertices of a triangle ABC. If P
be a mid-point of AB and Q be a
mid-point of AC, then show that

PQ:%BC.

(ii) (A) Find the equation of the line
passing through (-2, 3) and having
slope 2.

(B) Prove that, (-g, —f) is the center of

the circle x2 +y? +2gx+2fy+c =0,

where g, f, ¢ are constants.

i
s x@-(%w) (%x3)- (3%»9>
(~1%8) - (~1%9) Gw)'@.*@
9+3 9 +3
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